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Topic:- General Knowledge and Logical Knowledge

1) Some friends are seated in a row: Which friend is seated in the middle? / S IGERG
dfea & 46 & &ia a1 Fx 9= 7 der g2

[ I | | I I l

Ramesh SI;:,r..m Mohan Kunal Vidaam Puneet Sikhar

1. Puneet / g:ﬁ?[
2. Vikram / fdsh

3. Kunal / UITA
4. Mohan / Iﬁ—s':l

Correct Answer :-

 Kunal / Ut

The jumbled letters of words are given below. Each letter has been numbered. Choose the option which
gives the correct order of the letters as indicated by the numbers to form the words. / Udh 2[6g %

fo=Tr a awer e AR faT 1T §) Uodeh HaR &I FAihd [har 3T §| 37 fdeed & I
S e & faAT & o 3T Seanit canr 3aRt & T8 S S gidr B

M R ] C | T | A

1 2 3 4 5 B

1.1,6,2,4,3,5
2.6,5,2,3,1,4

3.4,6,2,5,3,1



4.2,3,5,4,6,1

Correct Answer :-

* 4,6,2,5,3,1

3) Gangtok is the capital of / el A ot Irereri % :
1. Sikkim / RifeRpH

2. Nagaland / BIUINE]

3. Meghalaya / I G}

4. Arunachal Pradesh / 3I®UI m

Correct Answer :-

« Sikkim / Rifawg

4) Among the currently operational Indian satellites, there is no /a_ch'ﬁﬁ uf=fera R m%‘rﬁ
I i |

1. Jupiter orbiter satellite / QBFTI%T He ITIE To1 &
2. Navigation satellite / T TG TE ]

3. Earth observation satellite / q&‘ﬂ &0 SUUE T8l §
4. Communication satellite / TdR IUUE Te! &

Correct Answer :-

« Jupiter orbiter satellite / q‘s’mﬁl He ITIE Tol &

5) Which of the following recently received permission from SEBI to exit business? /ﬁﬁﬁ'@ﬁ )

fra g1 €1 ¥ A 9 suawry A e Fieen ot srgafa urw g3 82
1. Bombay Stock Exchange / ﬁwm

2. Calcutta Stock Exchange / d ¢Ich I TP U E

3. Delhi Stock Exchange / feeen Wi Qaﬂ%l\_ﬂ

4. National Stock Exchange / A Tl '\Jd{'lt\l'\ri

Correct Answer :-

« Delhi Stock Exchange / faeeil &l TR



6) Which of these discriminatory taxes did Emperor Akbar abolish in 1564 ? / STHIA DA

UGUTTYUT HX P THTE HER + 1564 T TUTG faar 42
1. Zakat / STpId

2. Kharaj / @RSl

3. Jiziyah / SHfSRITE

4. None of these / 3TH U DTS g1

Correct Answer :-

« Jiziyah / STiforATE

7) Which one of the following services of India Post has permanently been discontinued? / YRAN STH

ot Frafafaa Jarei o @ o9 dt v a1 &) wrfl Fu S 9 s o mar g2
1. Inland Letter / \}lﬁ%sfﬁ'q °Fl
2. Postal Life Insurance / ST Siid- ST

3. Telegram / dR
4. Speed post / WS URe

Correct Answer :-

o Telegram / dIR

8) Which one of the following Articles/Schedules in the Constitution of India deals with Autonomous

District Councils ? / W%ﬁ%ﬁ%ﬁﬁﬁﬁ@@/wmwm
uRugl & ATy HGER FIdT 32

1. Sixth Schedule / BT ST
2. Article 370 / 3{J=5G 370

3. Article 250 / 3{J®G 250
4. Eight Schedule / 3Tl 3Gt

Correct Answer :-

« Sixth Schedule / 3l Iz

9) Indian Railways has given a contract to Bansal Group to manage which railway station in Madhya

Pradesh? / RAII ¥ed = A YT & (o Y0d WM BT UG R & ¢ 59 YU & 1Y Th
ey far 82



1. Habibganj / gSIaol
2. Nepanagar / IR
3. Ratlam / Xd¢ITH

4, Satna / Hd-Tl

Correct Answer :-

« Habibganj / gal&TISl

10) According the Census 2011, the most populated district in Madhya Pradesh is / a9 2011 1

SRIUMET & 3R, WS USRI $T T SUTST SIS ara fore ST a1 g 2
1. Gwalior / TR

2. Jabalpur / STEAYR

3. Bhopal / HiOTd

4. Indore/ﬁ?

Correct Answer :-

e Indore/ sTfaT

11) As per Census 2011, the most populous state of the country is / STIUTAT 2011 tg SR, a'SZT
BT HIY SHTUP ST} Tl I gl

1. Uttar Pradesh / 31X m
2. Andhra Pradesh / G‘IT?JQ%-‘QT
3. Rajasthan / TSR

4. Madhya Pradesh / & e

Correct Answer :-

e Uttar Pradesh / 3T} Ela"\’[

12) How many states does India have? / HRd ¥ foaq ?IW%'?
1. 28

2. 19

3.25

4. None of the above / G'CR}I?H | @[?ﬁ_ﬁc:ﬁf



Correct Answer :-

» None of the above / Wﬁ@rﬁé:@

13) The category of ‘Overseas Citizens of India’ was entered in the Citizenship Act of India through an

amendment in the year WAL H TP YRNYF & gRT HRd DI AFTR ST e d HRa
& YA AR St 40i B SIST I UT|

1. 1996

2. 2003
3. 1992

4. 1986

Correct Answer :-

e 2003

14) The only lady Governor of Madhya Pradesh is / & TSR & THHATT AfgdT IsTuTd P B?
1. Padmaja Naidu / UsISIT 1A g

2. Sheila Kaul / el Il

3. Sharda Mukherjee / RIRGT W

4. Sarla Grewal / TRQT JaTd

Correct Answer :-
« Sarla Grewal / 9@ JaTad

15) The Cabinet Committee on Security (CCS) is chaired by? / gR&T et Whvvsa afafa (%ﬁq?:
FHET 3T R - Wiefew) &1 sreger d1 72

1. The Finance Minister / fa= A}
2. The Defence Minister / J&fT HAT
3. The Prime Minister / U HAT

4. The Home Minister / [& HA

Correct Answer :-

« The Prime Minister / U4T HAT



16) The Light Combat Aircraft (LCA) designed and developed by HAL is also known as / TdQU GIRT

Fyifed R e Rid s ds1p fau @arfivy sTam T 32
1. Suryakiran / ATHR0T

2. Aryabhatta / 3TIHE

3. Tejas / ol

4, Prakash / UhTR[

Correct Answer :-

o Tejas/ do

17) Bhoodan Movement was started by / Y&I-T 3TgIa gIRT Y= foar 1T o
1. Vinoba Bhave / [d=TaT 4Td

2. Jayaprakash Narayan / SIOUD R TRTYU]

3. Dadabhai Naoroji / @lc ‘1.|'|'5c RIS

4, Mahatma Gandhi / HeTHT el

Correct Answer :-

« Vinoba Bhave / fa=1aT 419

18) Who among the following has not received a Nobel Prize? / Frafafea 4 9 e e PRIPR
T 81 g3 82

1. Amartya Sen / 3T I
2. Mother Teresa / HGX ol
3. Mahatma Gandhi / HeTHT el

4, CV Raman / Tt T

Correct Answer :-

e Mahatma Gandhi / HeTHT el

19) Who is the author of ‘The Palace of Illusions’? / ‘¢ Uy 3T QYRIT’ > AGPD DI %?
1. Chetan Bhagat / ERRRING

2. Devdutt Patnaik / %aaﬁ gcAargs

3. Chitra Banerjee Divakaruni / ICEll Wﬁﬂ'@ﬁﬁ



4. Arundhati Roy / Ryl I

Correct Answer :-

o Chitra Banerjee Divakaruni / CEICEEIRACCICESEIl

20) Who was the President of the Constituent Assembly ? / TIIUTT IUT & 3rehed i A2
1. Sardar Patel / TRGR Ucd

2. Rajendra Prasad / oIS TG

3. Jawaharlal Nehru / STTERATd g3

4. Dr. B R. Ambedkar / ST 8t 3R 3FISH

Correct Answer :-

» Rajendra Prasad / oIS TG

21) Lakshadweep is in the / a&dig - | %
1. Bay of Bengal /Wﬁ@l?ﬁ
2. Pacific Ocean / URIid SRR

3. Indian Ocean /%_CU:IB'W'ITIT
4. Arabian Sea / 3IRJ IR

Correct Answer :-
e Arabian Sea / 3Rd g’k

22) The series given below contains a sequence of numbers. Identify the incorrect combination: / = & Tlg %I_E?IT

o, Jerail o1 TP HH SUFRIT & | Tad Jais- Ugan=e:
12, 32,72, 142, 312

1. 142

2.312

3.32

4. 72

Correct Answer :-



23) Select the option that is true about the Statements and Conclusions given:

Statements:
All guns are rifles
Some pistols are guns

Conclusions:
I. Some pistols are rifles
I1. Some guns are rifles /

I fadred &1 71 B wifd 3y g Hy=t oix fAewuf & ar o 98l &:
DY

Toft dgd s §

frepd:

1. 70 N swa s

I $O 9gP USHA §

1. both conclusion I and II follows / F5BY 1 3R 11 ST SIERUI R §

2. only conclusion I follows / Had pY 1 STV hdl g
3. only conclusion II follows / FHad (B 11 SR Hdl %
4. neither conclusion I nor conclusion II follows /- E?r ﬁﬁh_ﬁl 3'ﬁ? Cl ?3[ ﬁmﬂf IS SR I %

Correct Answer :-

 only conclusion I follows / Had ﬁ'@?ﬁl STV hdl %

24) Select the option that is true about the Statements and Conclusions given:

Statements:
Some rulers are scales
Some scales are straws

Conclusions:
I. Some rulers are straws
I1. Some straws are rulers /

39 fawey &1 99 Fifoe e few T wy=Y ok fApuf & IR A Odl 8:
DY

PO TR A §

PO RPART S



ferend:

L PO IR CI8

1L $B IR &

1. both conclusion I and II follows / FI&pY 1 31X 11 g ST FYd %

2. only conclusion I follows / Had Y | IR HdT g

3. only conclusion II follows / $Had FpY 11 TR0 HdT g

4. neither conclusion I nor conclusion II follows / 71 & feerd 1 3R 1 g fFAepef 11 SR A8

Correct Answer :-

« neither conclusion I nor conclusion II follows / 1 B FTshY 1 3R 7 g1 FshY 11 3IXRUI Hd &

25) Select the option that is true about the Statements and Conclusions given:

Statements:
All hens are cocks
Some cocks are chicks

Conclusions:
I. No chick is hen
I1. Some hens are chicks /

39 fapey 1 7 S HfP AT ¢ ST 3R el & 9k F gl &:
DY

Wit gftfat 7 &

EERUECH

s

LIS gon i e ¢

. $° gffai g9t

1. both conclusion I and II follows / F5HY 1 3R 11 g ST A %
2. either conclusion I or conclusion II follows / IT @l

3. only conclusion I follows / Had ﬁ'@l’?ﬁl STV hdT %

4. only conclusion II follows / Had e 11 STTIRU] hdT ?

Correct Answer :-

« either conclusion I or conclusion II follows / T ?‘ﬁ



26) Select the option that is true about the Statements and Conclusions given:

Statements:
All boys are intelligent
Shyam is intelligent

Conclusions:
I. Shyam is a boy
I1. All intelligent are boys /

39 fareu &1 99 FIfore Sife few e Syt iR fAsepul & ar A 98l 8:
DY:

ot T gfem 7
M giSAE 8

e
L. A U AShI g

.9 gfeaass &

1. both conclusion I and II follows / F5HY 1 3R 11 Gt ST Hd %

2. only conclusion I follows / Pad (TP | IR Hdl %

3. only conclusion II follows / Had sy 11 TR HIdT g

4. neither conclusion I nor conclusion II follows / - é’f fapy | SﬁT - Eﬁ fspy 11 SR GG %

Correct Answer :-

« neither conclusion I nor conclusion II follows / 7 g1 f5py 1 3R 7 8 fAsw e 11 SR PRAG

27) Complete the series choosing the missing letters: / Gl &Y Gf&l'ﬁ G| AD W?IT Ca| T aﬂﬁm
ABD, CDF,EFH,

1. GH]

2. HIK

3.1JL

4. FGI

Correct Answer :-

e GHJ

28) What is the probability of one heads in two tosses of a fair coin? / Th frger Rigs &1 EBI drR

IBTEA W T I (@) U 8 &1 a1 il 22

1. 0.50



2.0.25
3.0.75

4. 1.00

Correct Answer :-
e 0.50

29) If the 10th of a 30-day month falls on the Monday, what will be the day on 30th? /?T% 30 ﬁﬂ‘raﬁ

TP T8 37 107 1o WHaR &Y Usdn 2, aY 309 9 | | fe g
1. Tuesday / HITIAR

2. Wednesday / §YdIR

3. Monday/FnTITﬂT

4. Sunday/Tﬁ?ﬂT

Correct Answer :-

» Sunday / Ifaar

30) If MIRACLE is coded ZVENPYR, then how is JOURNEY coded? / !T% MIRACLE &\ ZVENPYR ¥

PIfSd {51 Sa1 8, @ JOURNEY ) A HIfSa fvar s
1. WBHEARL

2. WBHEALR

3. QLFIMVB

4. OLFIMBV

Correct Answer :-

o WBHEARL

31) Four numbers have been given, out of which all except one share some common property and hence
are alike, while one is different. Choose the odd one out: / IR "dR %E Mg %, orH @ Faa Th Cal
2y Gt o ATHR TN B AT B §, TARIY TH S § 9 T e ¢ | 98 faww g

Pifog

1. 257
2. 357

3. 247



4. 235

Correct Answer :-

o 247

32) In a row of children, Deepti is 9th from the left and Kashish is 13th from the right. They exchange
their positions and then Deepti becomes 17th from the left. Find the new position of Kashish from the

right end of the mw?/aaﬁaﬂwﬁﬁ,aﬁmﬁﬁmw_ammaﬁiﬁ 13a@ﬂ7'[tl?%l
3 et FRUFY Y 3Tow & 9o d A & 3R bR Ity a1 3R | 179 w9 W o Wit B 1 Ui ¥ ard
RR A oim &) 7 fRAfa &1 gar ame?

1. None of the above / SIRIGd H A d;lir lﬁ:lﬁf

2,27t /27
3.21th /219

4. 20th / 20

Correct Answer :-

e 21th/ 21

33) In a certain code language hil hop hed means police and public and nio hil gok means go to police.
Which is the word for police in that language? / Th T IS HTHT ﬁ, hil hop hed BT 3% police and
public AYT nio hil gok BT Gngo to police gar el 39 BIS UTHT ﬁpolice & fore fore e &1 gXaHTa
far mar g2

1. gok
2. hil
3. hed

4. hpo

Correct Answer :-

e hil

34) In a certain code language, dra sonc fert means win my heart; brip seda sonc means famous heart
surgeon. Which is the word for heart in that code language? / Th & PIS U H, dra sonc Sfert BT 3 f
win my heart; brip seda sonc PT 3 of famous heart surgeon Eﬁ?ﬂ %I £ IS YT H heart & ﬁl’({ fPavs
BT SXAATS 54T T 32

1. brip



2. sonc
3. dra

4. fert

Correct Answer :-

35) If MARINE is coded NZTGQB, then how is TAILOR coded? / f& MARINE @ NZTGQB ¥

PIfSd forar oIrar 8, @ TAILOR &1 9 Sifsd forar s
1. UZKJSO
2. UZLIRP
3. UZKJRO

4. UZKJRP

Correct Answer :-

« UZKJRO

36) Find the odd one out: / h faum snaaﬂﬁm:
1. Hot / T

2. Spring / q4d

3. Autumn / UdAS

4. Summer / YT

Correct Answer :-

« Hot/TH

37) Complete the series choosing the missing number: / T IBAT TAB YT HI GRT HIOIC:
5,10,17,26,37, _

1. 47

2.50

3.22

4. 56



Correct Answer :-

e 50

38) Complete the series choosing the missing number: / W JETT gIh} WFIT 3 T aﬁﬁnz:
20, 25,30,35,40,_

1.75

2.55

3.45

4. 60

Correct Answer :-

39) Complete the series choosing the missing number: / T IJBAT TAB YTAT HI GRT HIOIC:
2,864 __

1. 1024

2. 1088

3. 126

4. 640

Correct Answer :-

40) Who built the Moti Masjid in Red Fort at Delhi? / faeell & @Ta foqt A |<h wiie &1
fwtor feaa samrr 912

1. Aurangzeb / RO
2. Akbar / bR

3. Humayun / §TIT§[:

4. Shah Jahan / TTgwIg!

Correct Answer :-

e Aurangzeb / RO



ed? /afe

owing options is form

I

shown below overlap, which one of the foll
fF & a1 sfdeniua gl & 9 & ¥ &l &1 v fawed =t &7

1)
If the following two squares

—_—
—a

[

2 S SN R p——

e — H —
s —— — & |
— : - — 5 —



In the sequence shown below, which figure comes next? R E LR T ﬁﬂ?ﬁ i |r

BRR®

1.

Al
Y M

3) In the sequence shown below, which figure comes next? JHE B TR e & el BT@% i I

HEED
A B C D
B C A E Z G Y |
F H D K BN Z Q




E
X K
X T
1.
E
Y W
X P
2.
D
X W
X T
3.
E
XY
X T
4,

Correct Answer :-

2 A M

4) The age of two persons differ by 10 years. If 4 years ago, the elder one was twice as old as the younger

one. Find the present age of the younger one. / a’rar%nﬁﬁan‘gmamv 10 a'ﬁf%l ul%wﬁqﬁ,a%
HfHRT B 31g B Bt GRIAT A | A B aferd BT ada= 3myg fbat g2

1.

2.

3.

16

14

12

4.8

Correct Answer :-

. 14



5) On dividing 4150 by a certain number, the quotient is 55 and the remainder is 25. The divisor is

./ 4150 DY fopdt T=m @ fauTiord #39 IR, HRTwd 55 3R AUBd 25 UTW glaT gl
HTSTh T gt |

1. 80
2.75
3.65

4.70

Correct Answer :-

6) A man takes 5 hrs 15 min to walk up to a certain point and then he decides to ride back. If he gains 2 hr
when he rides both ways, i.e. back and forth; calculate the time he would take to walk both ways. /W

i3 g8 ®) te afd 5 6 3R 15 T & T a9 &R Aa1 8 SR gadl 3R A 98 A & 3m
31 2 Hear g1 afe ot gRISHY 3R T M- W1 A IV 2 U BT IHY a1 @ dl 31 iR A
TAPR - H I foa=r 9wy e

1.3 hrsand 15 minutes/3‘€I%r 15 a1,
2.7 hrs/7'€i%
3.3 hrs/3‘€i%

4.7 hrs and 15 minutes / 7 9¢ 15 fa.

Correct Answer :-

e 7hrsand 15 minutes/7‘€l% 15 .

7) From a container of milk, 10 % of the milk is replaced by water. This is repeated thrice. At the end of the
third replacement, what percentage of pure milk is present in the mixture? / g¥ & WWT}I 10% gq¥
@1 U A gea far sirar 8 1| T 9 IR o e 8 | R Sgarg & 91e, 39 Yo ¥ s g a1
wfa=ra faraar grm?

1.73%
2.70%
3.80%

4.30%

Correct Answer :-

e 73%



8) The price of sugar is reduced by 4 %. How many kgs of sugar now can we buy for the money which was

sufficient to buy 18 kgs of sugar earlier?/ﬁ%ﬂ@ﬁ4% ﬁﬁa’raﬁwﬁmﬁvﬁﬁwﬁ 18
foram D+ @) o It A, sre fpat @ = Tt 82

1. 18 kg/ 18 fooum
2. 18.25 kg/ 18.25 T U1
3. 18.75kg/18.75 T,

4. 18.5 kg/18.5 oo U,

Correct Answer :-

« 18.75kg/18.75 U,

9) Three pipes can empty a tank in 10 hrs. How many pipes are required to empty the tank in 2 hrs?/ 19
UTSY Ueh ¢ bl 10 °e H Wrelt BR 3d &1 I TP 31 2 e A @rell H34 & forg fora ursul 6t
TTLIH T g2

1.18
2.6
3.10

4.15

Correct Answer :-

e 15

10) The area and the perimeter of a sheet of paper are 240 cm? and 68 cm, respectively. What would be its

length and breadth?/ T% TUR Tfie &1 8% 240 T A THieT 3 ufHTd 68 A 8 1 ST @H TS 3R
ANeTs fpa- gt -

1. 20 cm and 12 cm /20 99 3R 12 It
2. 24 cm and 16 cm /24 I 3R 16 YA

3. 20 cm and 14 cm /20 AT 3R 14 I
4. 24 cm and 10 cm /24 5 3R 10 =

Correct Answer :-

e 20cmand 14 cm /ZOWG‘ﬁTM@jﬂ

11)



Ram bought six mangoes from a vendor, who was selling them at the rate of Rs. 2 for three of them. Ram in
turn sells them at the rate of Rs. 3 for two mangoes. What is the cost price and selling price of the six

mangoes? / ITH 3 TH fIghdT A 6 3MH WIS, 5t f 98 fasbdr 2 T H 3 # R A ST QT UTI 916 |, IH
I T B FUT 3 H 2 Ft g3 A AT AT 81 6 3ATHI BT 64 Jed 3R faspa ge fa=m ghm?

1.2,7
2.5,10
3.4,9

4.3,8

Correct Answer :-

12) Divide 32 into two parts such that if the larger part is divided by the smaller one, the quotient is 2 and

the remainder is 5./ 32 ﬁﬁﬁmﬁﬁﬁmﬁﬁﬁﬁ@ﬁaﬁmﬁmmﬁ
YT 3T 91T aY URTH e 2 3R RIuwd 5 3Me?

1.2,5
2.9,23
3.32,9

4.32,5

Correct Answer :-

e 9,23

13) If sides of an equilateral triangle is increased by 20%, then by how much will the area of the triangle

increase?/wmﬁ‘ﬁﬁaﬁWﬁﬁﬂ%m%@hﬁ'ﬂﬁﬁﬂﬁﬂﬂﬁwmﬁm
d¢ SITE?

1. 40%
2. 44%
3. 48%

4. 20%

Correct Answer :-



By selling a watch at Rs. 840 a person loses 4 %. Find the gain or loss if he sold it for Rs. 875? / Th Hfad
TR TP TS1 840 . T 991 WX I 4% BT JH UM gidl g1 I T8 ST TS F 875 ©. A 3w A A
foraaT @y sryar g1f gt

1. Gain of Rs. 7.25 / 7.25 & [ dIH
2. No profit, no loss / = €TH, :TBTET
3. Loss of Rs. 1.00 / 1.00 . &1 gIA

4. Loss of Rs. 2.50 / 2.50 % &1 I

Correct Answer :-

« No profit, no loss / = @4, 7 g4

15) What is the difference between the place values of 8 and 5 in 1398653? / 1398653 H3MR5%

RIT A1 BT 3R T g2
1.3

2.2

3. 990

4. 497

Correct Answer :-

« 990

16) Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ T 3 T 9R el § 9 R 33 T ud & St aHE 91 91 U9 T8 82

Steve Pipe
5Dick Collins Hall
Redhill Street NW10

(i) Steve Pipe
5Dick Collins Hall
RedhillStreat NW10

(ii) Steve Pipe
5Dick Collins Hall
Redhill Street NW10



(iii) Steve Pipe
5Dick Collins Hall
Redhill Street NW10

(iv) Steve Pipe
5Dick Collins Hall
Redhill Street NW10

4. iii

Correct Answer :-

17) Find the average of first 11 multiples of 9? / 9 P UYH 11 ﬂ'Ur\‘rﬁ BT 3NTd fhd=m ﬁ'ﬂT?
1. 54
2.52
3.45

4. 60

Correct Answer :-

. 54

18) Find the sum of theseries:1 + 2+ 3+ 4 + 5 ... 89 + 90/ YTET 1+2+3+4+5 oo
89-+90 T IRT GIT:

1. 4095
2. 3868
3.3260

4. 4325

Correct Answer :-



19) A man starts walking towards sunrise. He walks for 5 km, and then turns right and walks
for another 3 km. He turns right and then walks for 4 km. Finally, he takes a right turn and
travels 1 km. Which of the following directions, is he facing now? / Jdigd ®t fa=m ¥ ts amet
TAAT R BT 3 | 98 5 fpr} Tarar 3 Sk fbe o geae 3 fpft sk aaar 31 ag e gear 3 sk 4
it Taar 81 Sida: 98 < gear @ 3R 1 &t aerar 81 o a8 fra e d S=g@ 32

1. West / Ui
2. East / Q4

3. South / GI&UT
4. North / 3R

Correct Answer :-

e North /3R

20) I have a money purse containing Rs. 700. There are an equal number of 25 Paise coins,
50 Paise coins and 1 Rupee coins. How many coins do I have of each of them?/ W CEY H 700

?K.%‘ls;ﬁsaﬁé’rzsﬁﬁ, 50 T 3R 1 . & Reh WaR F@IT A &1 TP YR & Riap! &1 @&
feait g2

1. 455
2. 450
3. 400

4. 390

Correct Answer :-
e 400

21) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: / T &Y TE @a #, 3&RY 3R B3l ®1 v HH AR &1 T Yo vgEne:

i.ytbei732btyei
ii.ytbei732btyei
iii.ytbe1732btyei
iv.ytbei732btyei
1.1v

2.1



3.1
4, i1
Correct Answer :-

e i

22) Find the average. 13T fepTferd |
4,8,16,24,32 & 42

1.20

2.24

3.21

4. 22

Correct Answer :-

23) The ratio of the ages of a father and his son is 6 : 1. Twenty years hence, the ratio becomes 2 : 1. What is the
sum of father's and son's current ages? / fUdT iR gaﬁ ST BT AU 6:1 2120 9 91 T8 S{UId 2:1
BT et 3R U ) actur 3y &1 AT faran 32

1.50
2. 60
3.55
4.35
Correct Answer :-
« 35

24) Five years ago, if the total of the ages of a father and his son was 40 years, and the ratio of their present ages

is 4 : 1, then, what is the present age of the father?/Sa'Ef‘]ﬁ, gfe frar sﬁ?gaaﬁarrgm!ﬂﬂmaﬁmaﬁ?
AP TAHT 3T BT U 4:1 8 a1 fUrar Y acar= smy fra-i 82

1. 40years/405|'5f
2. 50 years/ SOa'Ef
3. 35 years/ 353'5f

4. 45yea rs/456|'5f



Correct Answer :-

e 40yea rs/405|'5f

25) Ram and Shyam working separately can do a piece of work in 15 and 30 days, respectively. If they work on
alternate days starting with Ram on first day, then in how many days the work will be finished?/ XTH 3R W™

S-S HTH B §Y [P BTH B HAT: 15 3R 30 RA A Fa §1 g} wga T I A gE R gu d
TP 39 BIS-BIs F B HRA €, d STH GH 811 | a1 9 s e

1. 20
2.25
3.15

4.10

Correct Answer :-

« 20

26) Poonam can complete a piece of printing work in four days and Sonia can do the same in six days. If the two
girls work together, then, how long will it take for them to complete the given task?/ Y1H ufdn & W HTH B
4 A A T R Al 8, S HTH B QT 6 o7 ¥ 1 R ureht 81 afe S asfeai wiy A s w at

TH A g | b1 a0 arm?

"l
2 - days
‘I .
1.
]
3~ days
=
2.
]
1=days
2
3.
4. 5 days

Correct Answer :-



27) A father is twice as old as his son. 10 years ago, the age of the father was 3 times the age of the son. What is

the father's age at present?/mﬁmmvaﬁmél 1oaﬁqﬁﬁmﬁmmgﬁraﬁ3ﬂgaﬂ
T T B e Y adu= sy w @2

1. 50years/ SOa'Gf
2. 60 years/ 60T
3. 40 years/ 4098

4. 30 years/ 309y

Correct Answer :-

e 40 years/ 4099

28) A s two years older than B who is twice as old as C. If the total of the ages of A, B and C be 27, then how old
isB?/ A, BU Gl 99 9818 Wifd C A MG H ST R TS A, B 3R ¢ Ft T 37 27 94 &1, @t B Bt 3
fra g2

1. 10 years /10 TY
2.9 years/9 CL
3. 7 years /7 Gl

4.8 years/Sa'Ef

Correct Answer :-

e 10 years /10 T

29) A construction company purchases cement at the rate of Rs. 1,000 per tonne and stores it at Rs. 100 per
tonne. It is perceived that in the coming month, the price of cement will rise by Rs. 2,000 per tonne. The company
already has 500 tonnes of cement. If the cement usage during a month is 1,000 tonnes, how much cement should
the company purchase this month to minimize its expense in the next one? / Udh ﬁﬁ'ﬂhT YT 1000 s, Elﬁf
e 31 g A Wiile Tedl § o 3UP W& W 100 . Ufd @1 & f{are F =g st 31 37 gg uan

T 8 fF enra W ° Wi 1 9w 2000 3. Ul @ 9¢ GPHar 31 FI & UTH Ugd A g1 500 e Wi
21 afe us |rg # Wie Y @ud 1000 o4 8, 9@ 39 59 71 § fa-! Wi e v fred snmet
T | I 3if¥e @ AT HAT US?

1. 500 tones/ 500 ¢4
2. 1,000tones/ 1000 €
3. 2,000 tones/ 2000 €

4, 1,500 tones/ 1500 €

Correct Answer :-



e 1,500 tones/ 1500 ¢

30) A batsman has a batting average of X in 6 innings. In the 7th innings, he scores 48 runs, thereby increasing

his average by 5 runs. What is the average after the 7th innings?/WWﬁliﬁT 6 gl H SeaiaTSil BT
afraa X 21 79 Ut § 9 48 37 ST @, TR SHST oNIa 5 7 9 St 21 79 Ut & 91 ST Sivia
T gRI?

1.11
2.13
3.54

4.15

Correct Answer :-

Topic:- Science and Simple Arithmetic

1)  Find the aritimetic mean for the following data: JAFai@a 3o & OT T O A120 AT &1

Cost of pen
[ eTH Bl 30 35 20 10 5
Hedl
Dy
No.ofpens
/ FerHT & 1

H-JLEII

]
Lad
FEN
Lh

1. 10
2. 15
3. 225

4. 105

Correct Answer :-

e 15

2) -5 —11

Fnd i) x(3) =) /o (@) ()



Correct Answer :-

3 2 2 y
) Expnd (2x —y+32)2 / (2x —y +32)? & Rreaia HY)

. Ax? +y? +9z7 + dxy + 6yz + 12xz

, Ax? +y2 + 9z + dxy + 6yz — 12xz

4.x2 + }32 =+ gzz = 4‘_1’.'}' s 5}"2 +12x=
3.

4x? + v + 922 + 4xy — 6yz + 12xz
4.

Correct Answer :-
4x? +y? + 922 —4xy —6yz + 12xz

4
) 273576

1. 624
2. 564
3. 524

4. 724

Correct Answer :-

o 524



Which of the following quadrilateral is NOT a parallelogram? /Fafafeada s ar il'ﬂ'{-fﬁ Th
iR Ty 81 82

1. Square / aif
2. Rectangle / 3Td

3. Rhombus /ﬂﬂﬂﬂ%
4, Kite / PIgC

Correct Answer :-

e Kite / PIgC

6) Two parallel lines are intersected by a transversal, the corresponding angles are: / o Wm

o fode Y@ gr1 ufa=fed 8§ 9rd S
1. Not same/Wq_GQf%

2. Are equal / gHIH %

3. Sum of the angles is 180D

4, One is double the other

Correct Answer :-

o Are equal / HHIH %

7) In how many years will Rs. 4000 amount to Rs. 5324 at a rate of 10% compounded annually? / 10%

DI AT Tshgig &% 3, fra- o & 4000 TUH, 5324 UA 7Y SN2
1. 5 years /599
2.3 years /3 dY
3.2 years /2 @Y

4. 4 years /43'&

Correct Answer :-
» 3years/3 a'ﬁf

8) What is the smallest number that must be multiplied by 385875 to make it a perfect cube? / dg CTYdH

= P Wt g ot 385875 | O He1 W TH Ul v1 941 82
1.7

2.5



3.3

4.13

Correct Answer :-

e 3

9) The area of a rectangular field is 836 sq cm. One of its side is 22 cm, then its perimeter is: / TP

SATIATHTR &1 BT ETH 836 I AHI B |1 ITD! TP YT 22 1 3, A SqBTURATI & -
1. 100 cm / 100 4T
2. 200 cm / 200 JH
3. 400 cm / 400 JH

4. 120 cm / 120 9t

Correct Answer :-

« 120 cm /120 9t

10) The base area of a right circular cylinder is 40 sq cm and its height is 5 cm, then its volume is: / @&l

T4 (T3¢ HR) 96 BT ATYR STH 40 93 A} B 3R IS Hars 5 M 3, O STST MG 8 -
1. 256 cu cm / 256 G- T
2. 184 cu cm / 184 I AT
3. 200 cu cm / 200 O 9HI

4. 245 cu cm / 245 99 I

Correct Answer :-

e 200 cu cm/ZOO‘EI:[@'Jﬂ

11) The total angle in a quadrilateral is: / T ilﬁ‘{-[\_r[ | Pd PIUIR:

1,360
2. None of the above/maﬁﬁ@[mﬁ

3. 180
4. 540

Correct Answer :-



12) The market price of a cycle is Rs. 3700 and its discount rate is 10% , then its selling price is: / TP

T3P B STEIR B 3700 TUL § 3N I e X 10% €, 91 31 fIra e 8
1. Rs. 3500 / 3500 ¥
2. Rs. 3210 /3210 W
3. Rs. 3000 / 3000 U

4. Rs. 3330 / 3330 W

Correct Answer :-
« Rs.3330/3330 30

13) The coil of wire used in electric heaters is called a/an i ﬁg’zﬁf [ ﬁu‘gaaaﬁﬂéan‘raﬁ
PUSH B FeTAEar gl

1. filament / dq
2. cell /g
3. battery / gcd

4, element / dd

Correct Answer :-

e c¢lement / dd

14) Amit is now 20 years old and Leela is 4 years old. In how many years will Amit be twice as old as

Leela? / 3If¥a 3rft 20 9 &1 8 3R oftain 4 adf &1 81 fopaa auf A aifdra oo & SRpEm g1 8hme
1. 8 years / 8 T4

2. 12 years / 12 9%

3. 10 years / 10 98

4. 11 years / 1199

Correct Answer :-

e 12years /12 CL

15) (-5—T7a+6a?)+(2a+1)_



1. 6a—1

5 ba—5
3. 3a+5
4 3a—>5

Correct Answer :-

3a—>5

16) Which of the following belongs to protista? / BUEEEIC muﬁﬁwﬁmﬁaév
1. Slime moulds / 3/@U® HUHA!

2. Black moulds &Tell B/
3. Blue moulds:ﬂ?ﬁm/

4. Pink moulds WW/

Correct Answer :-

« Slime moulds / 3/dUd Blal

17) Which of the following combinations are most suitable for composite fish culture? AerkEkack:|
HEIo G W e & g qad Suga 87

1. Surface feeders, middle zone feeders and bottom feeders / q@ﬁ lﬁGﬂ, ay aaﬂ-ﬁﬁﬁﬂa STTTAHTSH
2. Surface feeders only / WC{@W Hron

3. Middle zone feeders and bottom feeders only / Had AL TSI Td STEIAHISH

4. Surface feeders and bottom feeders only / Fad q@ﬁ hici) Td STERIAHTSN

Correct Answer :-

o Surface feeders, middle zone feeders and bottom feeders / E@H ﬂ-ﬁﬁﬁ, | E‘ﬁ“—ﬁﬁﬁ@ SYTTAHISH

18) Which one of the following options is CORRECT about Amoeba? / T FaR AR AT HTA
A wd 32

1. Cannot carry out all cell funcﬁons/ﬂﬂ-ﬁmmﬂﬁmmg
2. Not microscopic/“Cj_'\fﬂil'c{ﬁ’f'_ﬁapff*?l?lT%r



3. Unicellular / TH IR
4, Mulﬁcellular/aﬁﬂﬂﬁlﬂﬂ

Correct Answer :-

. Unicellular/w

19) Name the white fibrous connective tissue that joins muscles to bones. /WY&HWWWW
AT SATg i 4Rl Y Sifeudl @ Sisar 7

1. Ligament / 1Y
2. White blood tissue / Xdd Yad 3
3. Cartilage | IuTRRY

4, Tendon / S

Correct Answer :-

« Tendon /HsxT

20) The largest phylum of animal kingdom is: /WWWW 93T BIgeH %
1. Coelenterata /?ﬂﬁ?ﬁT

2. Arthropoda / 3gfarsT

3. Annelida /Qﬁﬁ‘l@'{[

4. Protozoa / UTCIISAT

Correct Answer :-

e Arthropoda / 3nAfareT

21) One of the features about cloning mentioned below is INCORRECT. Identify the same. /ﬁ"}l’ aﬁh CRICK:g

IR # U faRivar Tad 8| YS! UgaH H |
1. The first cloned organism was the sheep dolly. / Ugdl CNIRESIC ﬂ's’ Siat ol

2. The cloned sheep dolly did not resemble either of the parents. / @M Y el (U= AT fUar & JHA
SRR
3. Wilmut developed the first clone of an adult sheep. / fd@gc 4 & U & Ugd 4 &l fabiRyd faan

4. Dolly was the exact copy of the adult sheep from where the nucleus was taken. / Sich 39 T ﬂ_s' bl
Tl Ui o STg1 9 AN form T ATl



Correct Answer :-

« The cloned sheep dolly did not resemble either of the parents. / I NS Sidi 30+ HTaT fUdT & 9=
BRI

22) Mathura oil refinery and leather industry around Agra are mainly responsible for: / 3MRT &

STHUTH AYRT 7 RT3 3R THST TN 437 FU A 39 fow SwRerlt &
1. Air pollution in Delhi/ faeei H arg Ugwur

2. Acid rain in Delhi / feoeit & 3t auf

3. Acid rain in and around Taj Mahal / ITSTHEd H TUT 39& SATHUN 3T qu

4. Skin disease / a1 T

Correct Answer :-

e Acid rain in and around Taj Mahal / dIsTHg A T JUT ITP 3MTIUTY 31T auf

23) The acid released in the stomach to help digestion is: / 9T # Agg #31 & forg Ue # Saurfed
HEEIGIRE RS

1. Hydrochloric acid / BTSSR 3k

2. Lactic acid / dfdee 3nd

3. Sulphuric acid / TR 33
4. Citric acid / TT3fcd 3T

Correct Answer :-

» Hydrochloric acid /E’I%@H@W 3

24) Decrease in rainfall is due to: / 9ul § HH! SHP BRI gl 8:
1. Global warming / ISICSCIER

2. Afforestation / HIHUI

3. Soil erosion / T URGT

4. Soil conservation / F&T TR

Correct Answer :-

e Global warming / ISICSCIER



25) A suspended bar magnet is rotated. It will come to rest in the north-south direction. This
shows that the earth has its own . |/ ACH] §3AT & JFaH YHTT SITdl 8 | I8 S«iR-afeul
fa=m & ogvar 31 ug <xifar @ fF gt &1 s gar gl

1. electric field / 3gad &=
2. magnetic field / W &

3. gravitational field / [ &

4, atmosphere / AIGHS A

Correct Answer :-

» magnetic field / W &

26) If the area of a circle is 154 sq cm, then its circumference is: / gfe Th g bl &% 154
if Aft @ it SEwt uRkfu 3 :

1. 44cm/44@1ﬁ
2.7cm/7@ﬂ°f
3. 49cm/49®’1ﬂ

4,21 cm /21 9+

Correct Answer :-
e 44cm /44 et

27) Nitrogen is used to flush food items to remove ./ T'I'@TFI' BT STANT G a'\‘ﬁ\’rﬁ CRIIE
Fd___ Dige & g fparsmar g

1. chlorine / TR
2. oxygen / RIENIE]
3. hydrogen / EIQSIGFI

4, water / 91

Correct Answer :-

e oxygen/ KIESES

28) Which pigments are commonly deposited in the sclera of eyes and skin during hepatitis? /W’Qﬁ'ﬂﬁ

3@} 3R @A & Qducd A JHI: HI AT 9uic gidT 82
1. Chlorophil/mﬁﬁf



2. Xanthophy Il / SIRIGTEA Il
3. Carotenoids / %illé:lll{

4. Bilirubin / Toferefem

Correct Answer :-

« Bilirubin / [SferRsfaq

29) The planet Venus rotates from: / g X[ AHTAR guiH &var 8:
1. West to East / U@ﬂﬁgﬁ

2. East to North /U:qcﬁ JaiX
3. East to West / uj@rqf%tr
4. North to South / @R U GIaf0T

Correct Answer :-

» East to West / q:q‘@rtr@ﬂ

30) Itis raining heavily and Sonam wishes to reach her home from the garden. The path on which

she is LEAST likely to slip is the one lined with: / W} TTR=T 81 T 8 iR W0 T F oA W a®
UETAT aTedl €1 98 IRAT O WX IS e $) YAaH AHTEAT 7, TUR Rafd ¥

1. Loose soil / 3e¢ figt

2. Gravel / SO

3. Polished marble / GTTeTRT fohdT g3 THRER

4. Cement / dife

Correct Answer :-

« Gravel / SRt



